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۱۴۰۳ −۱۴۰۴ دوم نیمسال

آورید. بە دست را زیر ناهمͽن مسالە های جواب .۱
آ⁃

ut − uxx = 2x2t+ 1, 0 < x < 1, t > 0

u(0, t) = t, ux(1, t) = 0, t ≥ 0

u(x, 0) = x, 0 ≤ x ≤ 1

ب⁃
ut − 4uxx = 50e−2x, 0 < x < π, t > 0

ux(0, t) = 1, u(π, t) = 2

u(x, 0) = sin x

پ⁃

ut = 9uxx − 6ux + u+ sin x, π < x < π, t > 0

u(−π, t) = u(π, t) + 1

ux(π, t) = ux(π, t) + 2

u(x, 0) = x

کنید. محاسبه فوریه تبدیل ͷکم به را زیر مسالە های جواب .۲
utآ⁃ = uxx + tut, −∞ < x < ∞, t ≥ 0

u(x, 0) = e−x2
, است ,u(xکران دار t)

ب⁃
uxx + uyy = e−x−y, 0 < x < ∞, 0 < y < ∞

u(x, 0) = xe−x, ux(0, y) = sin x2

limx→∞ u(x, y) = limy→∞ u(x, y) = 0


